CP-UM-5110JE

FEEXALYyF FLIM DU —X
(DC2#gE&2 17
iR EHEASE

VIR, BHEAZSEVWETOELEZZELTHYFED D
TVWET, BMFZFFLLRLICHBFEOVELELEDHIC, ZEA
ICCOBRIREHBAEZEZ LT HRAL W,

e, BHREOFELWVER,. SETHEE ERRREHRETIWEEL
a0,

X - CERICEBU TS, FRRURLEY [TEX .
UCTOTHEEBIRE|EDTHHREAS LS,
http://www.azbil.com/jp/product/cp/order.html

CERICER

mT &
V=R a4 TEBEAA T (SRS IA LM T
¥ & FL7M-
2[0e] 30e] 76 10006]
s 7 M8 M12 M18 M30
TR R 2mm 3mm 7mm 10mm
EXTE PR 0~1.4mm | 0~2.1mm 0 ~ 4.9mm 0 ~ 7mm
EEREE | $£8%x8X%1 | $£12x12X1 | $£18x18%X1 | # 30%30x%1
s o= REIEBED 15% LT
EREE DC10 ~ 30V
RNER 0.55mA LT
w5 BAFAE®R 3~ 100mA
HEEE VT
FEHERERE | —25C~+70C
HERRIE I 50M QLLE (DC500V * #1(2T)
HEE AC1000V 148 AC2500V 14
RiEIEE IP67 (IEC#&) IP67G (JEM#ARR)
[EIFRIRE WiERRE. Y — I BTERRE

W EHERERE &R

® T)IAYEALT
FUM[]DGD

DC10~30V

@ VA XAy A84T
FUM[MGDCND/SND

***************** [ S}

DC10~30V

***************** o ?

DC10~30V

+ FL7M-[JJ6[J-CN[JA/-SN[JA

H 6@ ram
e , §
[al ‘A ! DC10~30V
P& ; [
(=) E@
mﬁfi (ﬁ@&%%m“f%?&%‘m“(%i?
o BT 2\ IR BB T I 4 P L 1 0 >
TLZE W, MR RENEENE L T (o 0
$ 90, BIFERAE L OMlAB DY TIE 3 o 1
BRT 22 L2 B D £, 4
o B, ZOoRITIZIERICEHIEL 9. azs4447
HhBH T sne 2 IFEE AR L T ERE

XN,

e IX U AXA T SN%E 24 v 20y T3 ZPATY
) — XTSRS A8E. PATY ) — Z08IGHEE4 S
HRU CHEFZICREE L T 22 &0,

e IX &4 &4 7 -CN[1#I KU -SN[% A Uik Ci -+

BHA, A3 ZEFTL-20 LT T Za,
B S TER

® FL7M-2[]6[]-[]
S

B4 : mm
RAFv b
RRM (FRIZ)

1 )
—90

3 \#ego— K

30 (¢4.1,0.3mm?)
33.8
38.5

p

M8 X 1

T EES

RAF Y b
Ahr RRAT
I

|
\iga— K

(¢ 4.1,0.3mnt)

® FL7M-3(16[]-[]
5
z

L/
*‘!‘A
A
B
C

¥ & A(mm) B (mm) C (mm)
FL7M-3[J6[] 32 35.5 40
FL7M-3[J6[1G 40 43.5 48

® FL7M-7[16[]-[]

S Y. eabl

RRAT

’ \—
L/
4 .
T fic o el

37 (¢ 5.7, 0.5mm?)

M18Xx 1

® FL7M-10L16[1-[]
WS

X1.5
|-
o
il
9

M30

W s

(¢5.7, 0.5mm?)

J1

B EAH. ZFRIIODZA LF ¥ — b

EEmD .
s % i
|:| 80|:|/ 2y F
FL7M-[]J6[] RRAT & %
(/==WA-TLHH) W A OFF ON
FL7M-CJK6[] EN I
(/=XNIB-ZHA) W H _ON OFF

B HETH
Witk 24 v F &5 & 72 LT (1 3 54
WEECBEHORK & 5D ¥, TR
TTHHL Z &,

. MAEF

NG EREEDL L

¥ & A (mm) | B (mm)
FL7M-2[J6[] 15 20
FL7M-3[J6[] 20 30
FL7M-7[J6[] 35 50
FL7M-10[J6[] 70 100

B AREEOHE

B kLU O Gl 2 SR PHIC & % 354, Bt rREERE IS L
9, PRI IPEELL EREL TS 22 30,

¥ & A B
(mm) (mm)

FL7M-2[J6[] 8 8

FL7M-3[J6[] 8 9

FL7M-7[16[] 20 13.5
FL7M-10J6[] 40 225

A SEEZ Ay FO5E GRHE) » 5 B 5 Ok E TOTE
B :iER A v FRIAAIEDHIRE TOFiE

W ST hvy
® v MEME

WO fHFiEEOF v b EHfHEE AL, &y A
OIHFTL Z &0,

KNy ROEsmm S O X 0 FEMENELD T,
TRIRTHELI T D ML THRIDHITTL 22 &0,
FNTER (T 5 2 F 5 73) THRDMIT 2T 2 &0,
S 2 BUSTHCRHUE R, T v b 36 KOS 7 & OFE.
RIIRREIC & - TEFAEMIGT bL 21325 L 9. FEEEOM

AE DY THANI THERL 72 &0,
¥ & ATiE | SFBREM MLy | BoTiE | SFRIE MLy

(mm) (N-m) (mm) (N-m)
FL7M-2[J6[] 10 9 16 12
FL7M-3[J6[] 10 20 22 30
FL7M-7[J6[] 0 — 37 70
FL7M-10[J6[] 0 - 39 150

Al. B ‘
@ It UFEREF

FL7M-2[J6[1& M3D < IXAKIEHAL., 2T PEIED
NCTHD T 2 & =i, (V| T 4 2kt & Ui
L. TRIORTHELITO ML THEDEHT T L 22 &0,

ASFEERIZIZRTU 22 5B NnESIZ L TL Z XN,
M4, M5DIESHRCITHH L T 72 &0,
— k—
FeImED (A) kRl
W& |AdE|mERmLs | () el
(mm) (N-m) .
FL7M-2[16[] 10 0.6 (%) o
SRR ML 05N m T Aﬁ

B AND % (B #)

AND ##e (21) % 9 2 58 B3RO R & LD L
E3®

o BIHEIL = ANOBIEEL + 2 X B (3V)
BIERER) 20ms O BN RET 22 LMD 5,
POV Z (9 1ms/3mA) BRAET 28N H D 9,

s LED S, HATLAEWSARDHD 5.

W OR#iE (i 5 #%)
2L, L OR #2663 5 530>
£

o ¥ VYO XIFNER=BMOEIFER
o FIfERERI 200 s DE SIL ZNRRET AN N H D 3,

mUL—AT
vau—fmﬁﬂﬁfimwﬁniﬁ
DL —ffiE SIS R 380 OIS IEEL X0y,
@CRVU&~@%%T%§%A)

B BRYFEVEDEE
e I— FafHo TOEHAAL v F 2D X HNTL Z X0,
e I— FEMALIITHI SRS BT 2 &0,
o EA B LML N (ARBAL B, 7L ) hRE)DF
FHRDOPTHH L W TL 2 X0,
o I— FOHHIFPERIE T — FIMED 3L L E LT 22 &0,
o BEFERFICITI A BIRIRDRBNHE - THEHEBEFEY L L Ty
LTL7Z&W0,

e I3 &KX A4 J-SN[IZ
HNTL 720,
HET,

. EE%?-L@/EIL‘\

. ﬁi‘ix 4y FAOEFREB LN —FE L AN TL 2

o W—UR /A ZITK BB, BREMEDOKIKIZZE D £,
o I — FOMERIZ0.3mm2 Y FOEBRTI00mATE L TL 7~
Xy,
cHiIKD A4 v F VT L Fa L — R EHHOEIE. 7L —24
77/bﬁ?&%ﬂbf<féh BhE S hisnwe z24 y
FUTIAXCKDBRIET ST LD D ET,
 WHEMAM., 7 \/70/%%7; ERABRVPEL B BEMICI
VIRt 2 B & I ORIZ AR TS Z &0,

IR

3 RO ERERRO . TR

JEENRE LRI VBB T L
IX 2 ZOWDA LB TEEL KBBED

(ZEE)

COEHOREHARIE. MW EKERETIHEHHNETOT
T AL EE W, (24)

FREILHAESH
PRIKVAA =A== 3V hVINZ—
A i T100-6419 REBFRERANN2-7-3 RREL

IiEEXE &(011)781-5396 X 4 B (052)324-9772
® 4t X & 2&(022)290- 1400 B 75 % # B (06)6881-3383~4
JRIRXE 2 (048)621-5070 F E X E B@(082)554-0750
R =R X # &(03)6810-1211~2 A M X # B (093) 285- 3530

A= B—

(7 XE VKR R4
(COMPO CLUB)

@ 0466-20-2143

http://www.azbil.com/jp/
http://www.compoclub.com

1999F 58 #IhRFIT
2013%F 8H UET10kR(F)

{ \ BEOBMVADEE-
N




CP-UM-5110JE
|

FL7M (2-wire DQ)
Proximity Sensors
Installation Instructions
- |

Thank you for purchasing the Azbil Corporation FL7 Series.
Before operating this product described in this installation instruc-
tions, please take note of the following points regarding safety.

Please read the “Terms and Conditions” from the following URL be-
fore ordering or use:
http://www.azbil.com/products/bi/order.html

B Specifications
Shield type proximity sensor (suitable for flush mounting into metal)

Model No. FL7M-
2_6_ 3_6_ 7_6_ 10_6_

Size M8 M12 M18 M30
Sensing distance 2mm 3mm 7 mm 10 mm
Setting range Oto14mm |0to2.1mm|[0to49mm| O0to7 mm
Regular target object SPCC SPCC SPCC SPCC

8x8x1 12x12%x1 | 18x18x%x1|30x30x1
Hysteresis A maximum of 15 % of the sensing distance
Supply voltage 10 to 30 Vdc
Leakage current 0.55 mA max.

o FL7M-_J6_-CN_A/-SN_A

Load

+ A load can be connected at both poles.
+ A load must be used when power is ap-
plied to sensors. Combination of short

circuit and wrong wiring will cause
permanent damage, regardless of short

circuit protection.

10to 30 Vdc

20 A
O O
3 1
40

Connector pin

+ LED operates normally during a load
short circuit, therefore check the wiring

if no output is generated.

assignment

+ When using an SN_ connector model with a PA7 series Quick
Lock connector, refer to the PA7 series specifications sheet to
make a secure connection.

+ When using a CN_ or SN_ connector model with a threaded
connection, tighten the connector firmly by hand.

Hl External Dimensions

Output Switching current: 3 to 100 mA
Residual voltage 3V max.

Operating -25°Cto+70°C

temperature

Insulation resistance

50 MQ min. (at 500 Vdc)

Dielectric strength

1000 Vac for 1 minute 2500 Vac for 1 minute

Protection

IP67 (IEC standards), IP67G (JEM standards)

Circuit protection

Reversed polarity, surge voltage, load short-circuit

B Circuit and Wiring
@ Pre-wired type

o FL7M-__6

(4 1 BROWN

Load

10 to 30 Vdc

@ Pre-wired connector type
e FL7M-_J6_-CN/-SN_

10to 30 Vdc

|

=

ot oLl @—|

10 to 30 Vdc

s

T S e T

® FL7M-2_6 - Unit: mm
Toothed lock washer
Hexagonal nut
é — L Operation indicator
Ho—— )
—0
S
Insulated cable
30 (¢4.1,0.3 mm?)
338
38.5
® FL7M-3_6_-_
Toothed lock washer
_ Hexagonal nut
x
g P A ¢ Operation Indicator
B )]
| I}
(|
4
Insulated cable
A (94.1,03 mm?)
B
C
Model No. A (mm) B (mm) C(mm)
FL7M-3_6_ 32 355 40
FL7M-3_6_G 40 43.5 48
® FL7M-7_6_-_
Toothed lock washer Hexagonal nut
Operation Indicator
=
% B
x
s 14
- \l
4
Insulated cable
37 ($5.7,0.5 mm?)
41
45
® FL7M-10_6_-_
Toothed lock washer Hexagonal nut
Operation Indicator
bt}
x
% %J*r
= 4
5 Insulated cable
4,44.47

($5.7,0.5 mm?)

39
43
47

E1

B Operating chart of output and indicator

) 80% of
Operating  Qperating imi
point point Proximity

FL7M-_J6_ Indicator ORANGE GREEN
N.O. Output _ OFF ON

FL7M-_K6_ Indicator ORANGE
N.C. Output  ON OFF

B Mutual Interference

Faulty operation due to mutual interference may occur when sensors
are installed in parallel or facing each other. Keep sensors away from
each other at least the distance specified in the table below.

Model No. A (mm) | B(mm)
Ay
FL7M-2_6_ 15 20 RN
FL7M-3_6_ 20 30 ;///I/I////I/////IA
FL7M-7_6_ 35 50 1o
FL7M-10_6_ 70 100

B Influence from Nearby Metal
Metal opposite the sensor must be removed to avoid faulty operation.

Keep metal away from the sensor at least the distance specified in the

table below.

Model No. | A (mm) | B(mm) [Mwlf/// B B
FL7M-2_6_ 8 8 N i
FL7M-3_6_ 8 9
FL7M-7_6_ 20 135
FL7M-10_6_ 40 22.5

B Tightening Torque

@® When nuts are used
The maximum torque varies depending upon the distance from
the head.
Tighten the body to less than the maximum torque shown below,
using the included nuts and washers.
The tightening torque varies depending on the mounting plate
or housing, the nut and washer material, and the condition of the
mounting surface. Check that the torque is suitable for the actual
combination of items before use.

Model No. Distance Maximum Distance Maximum
A (mm) torque (N-m) B (mm) torque (N-m)
FL7M-2_6_ 10 9 16 12
FL7M-3_6_ 10 20 22 30
FL7M-7_6_ 0 — 37 70
FL7M-10_6_ 0 — 39 150

]

® When a setscrew is used
If installing the FL7M-2_6_ with an M3 cup point setscrew or an
M3 flat point setscrew, use the included rubber part as a shock
absorber and tighten the screw to less than the maximum torque
listed in the table below. Keep interval A between the sensor head
and the M3 setscrew.
Do not use an M4 setscrew or an M5 setscrew.

A—
M3 Setscrew
Rubber part
Model No. A Maximum <
(mm) torque (N-m) Y
FL7M-2_6_ 10 0.6 (Note) %

Note : The recommended tightening torque is 0.5 N-m.

Serial Connection

If connecting two sensors in series, take the following notes into
account.

« Supply voltage > Load voltage + 2 x Residual voltage (3 V)

¢ A delay of about 20 ms may occur.

e False pulses (about 1 ms/3 mA) may be generated.

e Indicators may not be turned on.

Parallel Connection

If connecting two or more sensors in parallel, take the following
notes into account.

» Number of sensors x Leakage current < Recovery load current
« False pulses (about 200ps) may be generated.

Using a Relay as a Load

This sensor has a residual voltage of 3.3 V.

If using a relay as a load, pay fully attention.

(If the supply voltage is 12 V, a 12 V relay does not operate.)

Handling Precautions

» Do not swing the sensor around by the cable.

Do not pull the cable with excessive force.

» Do not use outdoors, or where exposed to chemicals (solvents,
acids, alkalis, etc.).

» Bends in the cable should have a radius of at least 3 times the cable
outer diameter.

» When disposing of the sensor, dispose of it appropriately as indus-
trial waste in accordance with all applicable local regulations.

e Do not use an SN_ connector model in an environment where cor-
rosion is likely to occur. If the connector rusts, it may be impossible
to remove.

Precautions for Wiring

e Do not run wiring to the sensor in the same conduit as high volt-
age lines. Doing so could cause damage or faulty operation due to
power surges or electrical noise.

o To extend the cable, use at least 0.3 mmZ2 wire no more than 100 m
long.

e When using a commercially available switching regulator, ground
the frame ground terminal. Otherwise, the switching noise may
cause faulty operation.

e When using a load that generates an inrush current, such as a ca-
pacitive load or lamp load, connect a current-limit resistor between
the load and the output terminal.

azbil
Azbil Corporation

Advanced Automation Company

Specifications are subject to change without notice. (09)

1-12-2 Kawana, Fujisawa
Kanagawa 251-8522 Japan
1st edition: May 1999

URL: http://www.azbil.com 10th edition: Aug. 2013 (F)





